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Úplné zadání písemné přijímací zkoušky nebo její části (u testů s výběrem odpovědi správné řešení):      

TASK No 1

In this section you must choose the word or phrase which best completes each sentence. On your answer sheet, indicate the letter A, B, C or D against the number of each item 1 to 20 for the word or phrase you choose.

What is ‘Pop’ Music?

It has always been a problem to decide whether ‘popular music’ is music meant ……(1)…… or is simply music that ……(2)…… The same problem of definition exists with jazz. So many different types of music have been called jazz ……(3)…… that it is hard to say ……(4)…… Jazz has always been considered ……(5)…… black music but when I first ……(6)…… it twenty years ago, I used to hear white bands playing music that was like Louis Armstrong’s in the 1920s. I found out afterwards that they learnt to do this by playing his records ……(7)…… until their style was ……(8)…… his for them to imitate him.

Since then white singers ……(9)…… Bob Dylan have rediscovered their own folk tradition, instead of ……(10)…… black roots. But the main changes since 1960 have been social and technical. One is that young people have more money ……(11)…… records at an earlier age than they ……(12)……, so Tin Pan Alley, the ‘pop’ music industry, aims ……(13)…… teenage audience. ……(14)…… that electronic equipment has developed ……(15)…… extent that technicians are now ……(16)…… sound to produce recordings that are quite different from a live performance. 

But the real problem with ‘pop’ music is that Tin Pan Alley has always worked against ……(17)…… a genuine music of the people. It takes everything original and natural out of it and ……(18)…… cheap commercial imitations ……(19)…… the American folk singer, Woody Guthrie, said: ‘They’ve always ……(20)…… the second-rate songs. They’ve never wanted to play the good ones.’

1. A for hearing by the people

B for being heard by the people

C to be heard by the people

D that the people hear it

2. A like the people.

B the people like.

C likes the people.

D the people likes.

3. 
A at one or another time

B in one or another time

C at one time or another

D in one time or another

4. A exactly what is it.

B exactly what it is.

C what exactly is it.

D what exactly it is.

5. 
A being

B as being

C to be

D that it is

6. A gave an interest in

B gave an interest to

C took an interest in

D took an interest to

7. A once and again

B over and over again

C more and more times

D the most times possible

8. A close enough at

B close enough to

C enough close at

D enough close to

9. A as

B like

C for example

D for instance

10. A borrowing from

B to borrow from

C borrowing of

D to borrow of

11. A for spending in

B for spending on

C to spend in

D to spend on

12. A used

B used to

C usually had

D were having

13. A at

B to

C at the

D to the

14. A Another is

B One other is

C Another it’s

D One other it’s

15. A in so great

B to so great

C in such an

D to such an

16. A can mix

B able of mixing

C capable to mix

D capable of mixing

17. A its being

B it to be


C being it


D that it was

18. A replaces it for

B substitutes it for

C replaces it with

D substitutes it with

19. A As

B Like

C How

D Such as

20. A liked better

B better liked

C preferred

D rather had

TASK No 2

In this section you must choose the word or phrase which best completes each sentence. On your answer sheet, indicate the letter A, B, C or D against the number of each item 1 to 30 for the word or phrase you choose.

1.
There are some very attractive properties __________ offer round here.


A in
B for
C on
D at

2.
There were mutual accusations, but in the __________ analysis he was to blame.


A recent
B overall
C objective
D final

3.
Despite her apparent sincerity, no-one was __________ by her explanation.


A taken over
B taken in
C taken aback
D taken off

4.
Six straight victories mean they are a team to be __________ with.


A reckoned
B beaten 
C calculated
D won

5.
It’s a great opportunity; try and __________the most of it.


A do
B have
C make
D take

6.
I really do object __________ the television on all the time.


A having
B to have
C to having
D to have had

7. 
Ensure there is at least a 3 cm space __________ allow adequate ventilation.


A by so doing
B so that 
C in doing so
D so as to

8.
Why ask me? __________ all I know she might be living abroad by now.


A Though
B Since 
C For
D Despite

9.
Until I hear a really convincing argument I’ll __________ an open mind on the subject.


A maintain
B have
C show
D keep

10.
He’s been arrested, but the police haven’t __________ him yet.


A processed
B charged
C convicted
D cross-examined

11.
That’s another job done; I’ll cross it __________ the list.


A from
B of
C off
D out

12.
He may not be ideal, but when all’s __________ and done there’s no-one else.


A said
B made
C thought
D finished

13.
Take your driving licence with you __________ you get stopped by the police.


A if
B in case
C provided that
D in that case

14.
In the __________ of any clear leadership, the rebellion collapsed.


A lack
B omission
C absence
D vacancy

15.
Now here’s an __________ on the main news story we’ve been covering.


A upshot
B update 
C upgrade
D upturn

16.
I’m a bit concerned __________ how the new law might affect our business.


A in
B as
C for
D about

17.
The planes were delayed and the hotel was awful, but __________ we still had a good time.


A on the contrary
B by the same token
C on top of all that
D for all that

18.
I’d just as __________ have a quiet meal at home as eat out.


A soon
B rather
C well
D much

19.
He has been in __________ ever since he was convicted of taking bribes.


A shame
B disrepute
C reproach
D disgrace

20.
They had a terrible row __________ who should do the housework.


A on
B with
C over
D relating

21.
Now __________ in the flour until the sauce thickens, and cover.


A remove
B dump
C stir
D scramble

22.
New peace proposals were __________ at the recent Middle East conference.


A shown off
B spoken out
C put forward
D made up

23.
We had no way of knowing what __________ ahead of us.


A lay
B lied
C laid
D lain

24.
The opposition parties have __________ for new measures to relieve poverty.


A called
B demanded
C cried
D claimed

25.
It was only a ten minute ferry crossing but the baby was __________ twice.


A infirm
B sick
C poorly
D ill

26.
I don’t know whether you’ll succeed, but at least __________ a go at it.


A have
B try
C make
D do

27.
That looks more like __________ of the pen than a gap in her knowledge.


A a slip
B an error
C a fault
D a mistake

28.
No-one’s even studied the problem, __________ tried to do anything about it.


A not to say
B far more
C in no way
D much less

29.
Recent events have __________ doubt on the minister’s judgement.


A thrown
B cast
C meant
D raised

30.
Parents are demanding an immediate __________ on drug pushing near the school.


A crackup
B breakdown
C crackdown
D breakup

TASK No 3

In this section you will find after the passage a number of questions or unfinished statements about the passage, each with four suggested answers or ways of finishing. You must choose the one which you think fits best according to the passage. On your answer sheet, indicate the letter A, B, C, or D against the number of each item 1 to 5 for the answer you choose. Give one answer only to each question. 

‘The weekend began at 8am on Friday. By 3pm on Sunday I’d had an hour’s sleep. I was shaking with exhaustion and I felt too sick to eat. I was about to lie down when my phone went again. I had to admit someone, which stopped me getting any sleep at all. That took me through to Monday, when I would fall asleep whenever I sat down. I felt like crying because I couldn’t concentrate. I’d try to write down a clerking and I couldn’t remember what I’d asked. All I could think of was another eight hours, another seven hours, another six hours…’

Liz’s story is part of the pattern of life as a junior doctor. She works a one-in-three rota, which means that, in addition to working from 8.30am to 6.30pm every weekday, she works every third night and every third weekend. Nights off are spent trying to catch up on sleep. Another doctor recalls working 126 hours a week during her first house job. At one point she worked 26 days with only eight nights and not a single day off. 

No pilot would be allowed to fly an aeroplane having worked 80 hours on the trot, but if you come into hospital for an operation on a Monday, you might well be operated on by a junior doctor who has been working non-stop since Friday morning. A recent report from the Policy Studies Institute found that 46 per cent of doctors who qualified in 1981 wish they had never entered medicine, compared with 16 per cent in 1966.

Jo is one of the 46 per cent. She gave up medicine because she felt that, working 88 hours a week, she could not do the job to her own satisfaction. One Tuesday night on-call, after a weekend on-call, she nearly gave a child an adult’s dose of a strong painkiller. An alert nurse spotted the mistake. Jo lost almost a stone in weight over a few months. She would get home too tired to eat. She also had a chest infection, but did not take time off (although she could have passed the infection on to patients, with serious consequences).

Doctors are among the most likely members of society to become divorced or alcoholic. Their suicide rate is three times the national average.

1. From Friday morning until Monday, Liz

A did not sleep at all. 

B slept once.

C slept twice.

D slept several times.

2. In four weeks Liz would work

A 3 nights.

B 6 nights.

C 9 nights.

D 12 nights.

3. The comparison with pilots suggests that doctors

A have less responsibility for people’s lives.

B should have their hours of work controlled.

C are more competent, even when tired.

D refuse to have their hours of work controlled.

4. Jo thinks that

A she should not have become a doctor.

B she is overworked at the hospital.

C medicine is not a satisfying profession.

D what happened to the child was her fault.

5. Both Liz and Jo

A missed a meal on one occasion.

B became considerably thinner.

C found concentration difficult when tired.

D were physically ill.

TASK No 4

For questions 1 – 15, complete the following article by writing each missing word in the correct box on your answer sheet. Use only one word for each space. The exercise begins with an example (0).

Example:
0
in

CAN HONEY HEAL?
Peter Molan, a doctor from New Zealand, is a specialist (0) ………. stomach disorders. He offers his patients a simple, but effective alternative (1) to taking medicine: honey. Dr Molan claims the active component in honey is an antibacterial agent called UMF. There is some doubt in the medical world (2) as to whether UMF can destroy bacteria completely, (3) but/although research clearly shows that people with stomach problems experience some relief soon (4) after taking honey.

Is this yet (5) another case of science simply giving credibility to (6) what we have always known? After all, it is common knowledge (7) how soothing hot water laced with honey and lemon can be for sore-throat sufferers. In accepting the beneficial effects of honey, however, 
a (8) few reservations should be borne in mind. Firstly, the popular belief that honey is healthier than sugar isn’t entirely well-founded. (9) Like all foods, honey can be healthy (10) when/if eaten in moderation, but may also have some downsides. Honey contains the (11) same number of calories as other types of sugar, and it can cause blood-sugar levels to rise quickly. Secondly, eating (12) too much honey on an empty stomach can cause discomfort. That is (13) why it’s best to line the stomach with some fibre first, for example by following a main meal (14) with a dessert that incorporates honey. Thirdly, under (15) no circumstances should a baby’s dummy be dipped in honey before the baby sucks it, as this is just as likely to cause tooth decay as any other sugary treat.

TASK No 5

In most lines of the following text, there is either a spelling mistake or a punctuation error. For each numbered line 1 – 16, write the correctly-spelled word or show the correct punctuation on your answer sheet. Some lines are correct. Indicate these with a tick ((). The exercise begins with three examples (0), (00) and (000).

Example:
0
find that


00
their


000
(

Gossip

0 
……….
If you listen to the people around you in a café, you will find, that

00 
……….
around two-thirds of there conversation is taken up with ‘gossip’.

000
……….
They talk about who is doing what with whom, and why certain

1
(

people have pleased them and others not. You may come across an 

2
book that 
intense exchange about work or a book, that someone has just

3
away

read. But such a conversation will soon drift away returning

4
other’s
to the intense interest in each others doings which characterises

5
analysis
the social life of humans. Close analisis of conversation groups

6 pattern
reveals a further patern. Gossip seems to require a small

7 (

number of participants, usually two or three. If other individuals

8 (

try to join the group, things start to go wrong. The speaker

9 listeners
and listener’s try to involve the newcomers, but it becomes

10 everyone.
impossible to retain the attention of everyone, The group

11 breaks

becomes unstable and brakes up into smaller, rival conversation

12 us to

groups. Gossip allows us, to interact more efficiently with

13 (

other people. By means of gossip, we can keep track of what is

14 community
happening among the members of our comunity, to bond with

15 through
others throught smiling and laughing. Far from being a trivial

16 essential
activity, gossip is an essencial part of being human.

Kritéria pro vyhodnocení a postup, jakým se stanoví výsledek přijímací zkoušky nebo její části:

Úkol 1: Celkem 20 položek, 1 položka = 0,5 bodů, celkový počet bodů 10. 

Student vybírá u každé položky ze 4 možností.

Úkol 2: Celkem 30 vět. V každé větě student doplní pouze 1 možnost ze 4. 1 položka = 0,5 bodů, celkový počet bodů je 15.

Úkol 3: Test čtení s porozuměním : Pochopení textu je testováno v 5 bodech, které obsahují 4 volitelné podbody. Celkový počet získaných bodů je 5.

Úkol 4: Doplňování vhodných výrazů do textu bez jakékoli nápovědy. Na základě gramatických, lexikálních i stylistických znalostí student zvolí vhodný výraz. 1 položka = 0,5 bodů, celkem lze získat 7,5 bodů.

Úkol 5: Vyhledávání chyb v souvislém textu. 1 položka = 0,5 bodů, celkem 8 bodů.

Maximální možný počet bodů v celém písemném testu je 45,5.

Základní statistické charakteristiky písemné přijímací zkoušky nebo její části:


Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 304


Nejlepší možný výsledek písemné přijímací zkoušky: 50


Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 38

Průměrný výsledek písemné přijímací zkoušky: 17,5


Směrodatná odchylka výsledků písemné přijímací zkoušky: 5,85


Decilové hranice výsledku zkoušky:

d1=11 : d2=13 : d3=14 : d4=15 : d5=16 : d6=18 : d7=20 : d8=22 : d9=26 

Test z Angličtina ve sféře podnikání - varianta B

Úplné zadání písemné přijímací zkoušky nebo její části (u testů s výběrem odpovědi správné řešení):      

TASK No 1

In this section you must choose the word or phrase which best completes each sentence. On your answer sheet, indicate the letter A, B, C or D against the number of each item 1 to 20 for the word or phrase you choose.

Horse-riding Therapy

……(1)…… day, 12 years ago, Joe Royds took a pony called Jupiter along to a ……(2)…… centre for mentally handicapped children and, with his wife, Felicity, started to give the children rides. He thought that severely handicapped children ……(3)…… riding horses.

Today, more than 130 special schools ……(4)…… country have ‘put their children up’, ……(5)…… Joe, a retired businessman, terms it. Seventeen more schools ……(6)…… adopt horse-riding therapy ……(7)…… next summer. Joe has even introduced horse therapy to South Africa, ……(8)…… delivered a paper on the subject to the psychology faculty of Witwatersrand University a few months ago. The ……(9)…… that the National Society for Mentally Handicapped Children’s Riding Fund, of ……(10)…… he is manager, is now having discussions with Plessey, the radio communications company, about the ……(11)…… measuring and identifying the mechanism of horse therapy.

Joe believes that there may be an inexplicable rapport between horses and severely mentally handicapped children that ……(12)…… the child, a well-attested increase ……(13)…… confidence and sociability, and in the horses a remarkable docility.

The most significant improvement in the child was in ……(14)…… ‘There are 27 cases ……(15)……, of children speaking ……(16)…… from the saddle.’

He thinks there may be several ways in which horse therapy works. One is ……(17)…… up on a horse, the child senses a completely unprecedented psychological advantage. The children also appear ……(18)…… fear and horses ……(19)…… a fearless rider. ……(20)…… bred the horse, the more effective the communication. 

1. A A

B One

C It was a

D It was one

2. A new opening

B newly opening

C new opened

D newly opened

3. A might derive some benefit of

B can derive some benefit of

C might derive some benefit from

D can derive some benefit from

4. A all over the

B all through the

C by the whole

D for the whole

5. A like

B as

C that

D which

6. A are likely to

B will likely

C are probable to

D will probable

7. A at

B in

C on

D by

8. A where he

B where he has

C in which he

D in which he has

9. A later development is

B latest development is

C later development it’s

D latest development it’s

10. A that 

B which

C the which

D what

11. A better way in

B better way of

C best way in

D best way of

12. A produce, in
B produces, in

C produce, to

D produces, to

13. A to the

B to his

C in the

D in his

14. A speech.

B talk.

C the speech.

D the talk.

15. A that I know of

B whom I know of

C of that I know

D of whom I know

16. A its first words ever

B its first words never

C their first words ever

D their first words never

17. A being

B to be

C that being

D that to be

18. A showing any

B showing no

C to show any

D to show no

19. A reply immediately to

B reply immediately at

C respond immediately to

D respond immediately at

20. A For better

B The better

C How much better

D So much better

TASK No 2

In this section you must choose the word or phrase which best completes each sentence. On your answer sheet, indicate the letter A, B, C or D against the number of each item 1 to 30 for the word or phrase you choose.

1.
Cosmetics are by far the most __________ side of our business; $ 12 million this year.


A beneficial
B profitable
C monetarist
D interesting

2.
The suspected terrorist was __________ to the police at the border crossing.


E handed over
F handed in
G handed out
H handed on

3.
The government now expects a $ 10 billion __________ in revenue, so taxes will have to go up.


A fallout
B shortfall
C shortcoming
D outcome

4.
The __________ leader of the deposed junta is to face trial for corruption.


A former
B prior
C foregoing
D late

5.
We watched helplessly as the same thing happened all __________ again.


A fully
B over
C completely
D through

6.
If we go ahead with this scheme, the __________ line is that we’ll have to find $ 1 million from somewhere.


A first
B top
C bottom
D last

7. 
Rumours of further military unrest were __________ following the abortive coup attempt.


A rife
B extended
C plentiful
D global

8.
__________ being the coldest winter on record, it’s also been the wettest.


A Moreover
B Besides
C Beside
D Furthermore

9.
Let’s not forget there are other factors to be __________ into consideration.


A looked
B put
C mentioned
D taken

10.
It’s after eleven so we __________ better be making a move.


A had
B would
C should
D are

11.
__________ a good time when you stay with them?


A Have you
B Do you have
C Are you having
D Have you got

12.
The patient is __________ a series of tests to determine the actual cause.


A undergoing
B experiencing
C experimenting
D suffering

13.
It’s time you started thinking about __________ your own living.


A working
B employing
C gaining
D earning

14.
100 competitors had __________ the race.


A put their names for
B entered for
C put themselves for
D taken part

15.
He’s so mean that he wouldn’t give a beggar a __________ of bread.


A peel
B shell
C crust
D skin

16.
Will you be able to come to the party? I __________ .


A believe yes
B am afraid not 
C don’t hope so
D don’t expect

17.
The plane is just going to take __________ .


A away
B out
C off
D up

18.
How long are you thinking of __________ in this country?


A reminding
B staying
C resting
D inhabiting

19.
The lecture was so __________ that everyone went to sleep.


A boring
B bored 
C tiring
D tired

20.
I __________ an answer to my letter within a few days.


A hope
B wait
C look forward
D expect

21.
He’s worked so __________ that he deserves a rest.


A roughly
B intensive
C hardly
D hard

22.
They’re staying with us __________ the time being until they find a place of their own.


A during
B in
C since
D for

23.
Would you __________ holding this box for me while I open the door?


A like
B matter
C mind
D object

24.
They have put the bird in a cage to __________ it from flying away.


A avoid
B prevent
C hinder
D resist

25.
The __________ outside the house said “Private”.


A advice
B label
C notice
D signal

26.
I was so __________ by the news that I didn’t know what to say.


A admired
B marvelled
C amazed 
D wondered

27.
He __________ out of the window for a moment and then went on working.


A glanced
B viewed
C glimpsed
D regarded

28.
You’d better add it up. I’m no good at __________ .


A counters
B characters
C summaries
D figures

29.
She chose some very pretty __________ paper for the present.


A covering
B involving
C packing
D wrapping

30.
Everyone else was killed in the accident. I was the only one to __________ .


A relieve
B survive
C alive
D outlive

TASK No 3

In this section you will find after the passage a number of questions or unfinished statements about the passage, each with four suggested answers or ways of finishing. You must choose the one which you think fits best according to the passage. On your answer sheet, indicate the letter A, B, C, or D against the number of each item 1 to 5 for the answer you choose. Give one answer only to each question.

Whenever I travel I see the same person. Since I am uncertain whether he is a projection of my own mind or whether he has an objective existence, I should be interested to know whether other people have seen him as well.

He is easily described. He stands about 5ft 10in and is in his early or mid-forties. His face is of handsome proportions, tanned with no beard or moustache, and he has fairly short, slightly greying hair. He is dressed in bleached or stone-washed denim jacket and trousers (they are not exactly jeans) and on his feet he wears what were once called ‘pumps’, then ‘sneakers’, and now ‘trainers’. 

Among the characteristics of this man are that he appears to travel alone, carries an air of total but unassuming self-assurance, and is on familiar though businesslike terms with every hotel receptionist, airline clerk or bartender with whom he is speaking. But the most distinguishing thing of all about him is that the only thing he can be imagined as doing is to be on holiday. I have seen him only in airport hotels, in departure lounges, or at baggage reclaim on return, so that I cannot say for certain where he spends his time. I am certain, however, that he goes to Southern Europe and the Caribbean – though come to think of it when I last saw him about a month ago he was about to board a ferry across the Baltic.

Another puzzling thing about this man is that he doesn’t look especially wealthy, yet it is impossible to imagine him behind a desk, at a work-bench, or on a tractor. Possibly he is a spy. Possibly he is a policeman tracking drug smugglers. I don’t have the impression, though, that he does any work at all. He roams the world like the Flying Dutchman or the Duke of Windsor, except that he doesn’t find the travel irksome as they did. I conclude that he was made redundant on generous terms some years ago. If it weren’t for the stone-washed denims he might go unobserved, but it is them, which are not quite the gear for a man of his age, that attract attention and give him, such is his omnipresence at every point of departure, a somewhat sinister appearance. 

1. The writer knows

A that the man really exists. 

B what the man looks like.

C that the man exists only in his imagination.

D that many readers know what the man looks like.

2. What is noticeable about the way the man dresses?

A He wears a variety of different kinds of shoes.

B He is a little too old for the clothes he wears.

C He is never seen in casual clothes.

D He is always expensively dressed.

3. Which of these adjectives could be used to describe the man’s personality?

A Conceited.

B Lonely.

C Nervous.

D Confident.

4. The man always seems to be travelling

A by air.

B for pleasure.

C without suitcases.

D on business.

5. The writer thinks that the man

A lost his job.

B is an aristocrat.

C is employed by a government department.

D inherited a lot of money.

TASK No 4

For questions 1 – 15, complete the following article by writing each missing word in the correct box on your answer sheet. Use only one word for each space. The exercise begins with an example (0).

Example:
0
at

LOST LUGGAGE
Approximately one airline passenger in every thousand arrive (0) ………. their destination to find that (1) some or all of their baggage has not arrived with them. For many passengers this means (2) a wait of hours or days, with all the associated inconvenience, (3) while/whilst the missing item is being located and forwarded. Others, (4) less fortunate still, have to resign (5) themselves to the fact that their bags are actually lost and, as the days turn (6) into weeks, face the fact that they are unlikely ever to see them (7) again .
To prevent loss, (8) or at least assist recovery, passengers are urged to make sure that identification tags are secure and up-to-date, an itinerary with addresses is enclosed and that bags are distinguishable (9) from others of the same make. Airlines recommend (10) the use of coloured tape or large elasticated straps made specifically for this purpose. 

Lost or delayed luggage actually costs the world’s airlines over £6 billion per year. They get some of this (11) back , however, by selling off those lost items which are never claimed by (12) their rightful owners. (13) after/following months of intensive tracking, airlines send hopelessly lost luggage to companies which sort the contents and then put them on sale at bargain prices. At (14) one such company in Alabama, the leftovers of flying are laid out in a vast store, (15) which has itself now become an attraction for tourists from all over the world. Who knows, they may even come across some of their own stuff. 

TASK No 5

In most lines of the following text, there is one unnecessary word. It is either grammatically incorrect or does not fit in with the sense of the text. For each numbered line 1 – 16, find the unnecessary word and then write it in the box on you answer sheet. Some lines are correct. Indicate these with a tick (() in the box. The exercise begins with two examples (0), (00).

Example:
0
too


00
(

JOGGING

0 
……….
At one time, I used to think that jogging was simply too

00 
……….
impossible. I can remember a time when just a two-minute

1
with

dash to catch a bus would leave me with red in the face and

2
be
 
barely be able to breathe. The turning point for me came when

3
the

a very persuasive friend talked me into the accompanying her

4
(

on a four-kilometre run round the local park. I managed just

5
which

five minutes before which my legs decided they’d had enough.

6 as
 
I think it was that image of my friend as rapidly disappearing

7 it

into the distance that it stuck in my mind, and led me to 

8 and

take up seriously a sport which has genuinely and benefited

9 (

my health, state of mind and fitness. My love of jogging is now 

10 of

about three years of old and is prone to the natural peaks and

11 by

troughs that affect by most enthusiasms. Recently, I’ve been

12 (

going jogging just once a week. But I’ve reached the point where,

13 many

however many long I leave between runs, I can still go out for

14 any

twenty minutes, and feel any better for it. I guess there is

15 out

a risk of gradually losing out my fitness, but having overcome

16 (

the problem before, I know it will never be so difficult again.

Kritéria pro vyhodnocení a postup, jakým se stanoví výsledek přijímací zkoušky nebo její části:

Úkol 1: Celkem 20 položek, 1 položka = 0,5 bodů, celkový počet bodů 10. 

Student vybírá u každé položky ze 4 možností.

Úkol 2: Celkem 30 vět. V každé větě student doplní pouze 1 možnost ze 4. 1 položka = 0,5 bodů, celkový počet bodů je 15.

Úkol 3: Test čtení s porozuměním : Pochopení textu je testováno v 5 bodech, které obsahují 4 volitelné podbody. Celkový počet získaných bodů je 5.

Úkol 4: Doplňování vhodných výrazů do textu bez jakékoli nápovědy. Na základě gramatických, lexikálních i stylistických znalostí student zvolí vhodný výraz. 1 položka = 0,5 bodů, celkem lze získat 7,5 bodů.

Úkol 5: Vyhledávání chyb v souvislém textu. 1 položka = 0,5 bodů, celkem 8 bodů.

Maximální možný počet bodů v celém písemném testu je 45,5.

Základní statistické charakteristiky písemné přijímací zkoušky nebo její části:


Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 4

Nejlepší možný výsledek písemné přijímací zkoušky: 50

Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 28

Průměrný výsledek písemné přijímací zkoušky: 20.00

Směrodatná odchylka výsledků písemné přijímací zkoušky: 6.48

Decilové hranice výsledku zkoušky:

d1=14.2 : d2=15.4 : d3=16.6 : d4=18 : d5=19.5 : d6=21 : d7=22.6 : d8=24.4 : d9=26.2 

Ostrava …………………

Zpracovali: Petra Barešová, PhDr. Jana Káňová

Za správnost odpovídá: PhDr. Stanislav Kolář, Ph.D.

